TSR

1. ¥%4
¥B4 S 6 EEME « TEX LT +0—7 v TR
BT T KAy B B L 0T 78 A L e

2. ¥BNE

1) FBI4

2) JEATHM

H) 2 A EE g B

232 HIW H &f1 64 5H10H
E S 64E12H27TH

3) WEHY

AREBIL, X LEOERICHDL 7+ v —7 v TRIEICESE, M - TEX A
DEIRLFHENRIT OV TN - FHERFI 21TV, K0 — @l 7 28 HITK
BMIL5ZLEAMETHLHDTHD,

4) FEBNE

B EERRER o LkY

Et2mE  JuNH R



HAL AR

EHL | AMEEERR - TEX LT 3 u—7 v 7R 5 ER REHES
H H X LT xa—7 v TEHIGT
THE - TfE - FE5 B & & %A A OB N RR
X N7 Fa—7T v SRl =X 1 8, 984, 600
= (S b2 1 320, 400
= (S 2 1 320,400 | FEiHE
1 =
B N7 Fua—7 v st = 1 8, 164, 800
BT 4 m—7 v Tt A 1 8,164,800 | BRI - HE
1 2y
SN - REAmRRRS
1 =
EWHEE () 7Bk
1 =
FZERTERIEM - ERR
1 =
W EER X 1 499, 400
VR X 1 499, 400 | W5 EIER
1 =
Iim X 1 422, 500
IHm (GRAE - G X 1 422, 500
e = 1 422,500 | ¥TAH
1 =
RS S =X 1 304, 165
[ERES - = 1 304, 165
AT @ = 1 140, 165 | k¥ (i E - ERE)
1 =

o BRI e



PSR

ERL | D6 EERE - TEX LT Fu—T v P25 ER FREESS

HH [ERZIE S

THE - TfE - FE5 B & & %A OB R
%%ﬁz%lﬁjﬁzﬁkg ﬂ 164, 000 %%E}Z%lﬁl{/ﬁﬁk%
1 =
EEEREM (FOfFmER <) = 9,711, 265
Z OJEAR = 5, 065, 723
— R = 7,953,012
E SIS =X 22, 730, 000
-2 - E a8 LN R



